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B %‘% i L e
7H 64 % %
5 A b Kk |EWNE, K, Rk GERL, SR OEFRR—Db0), $8AD (5kg AV), =AY ) 14 2,208 2,208 0.0 8.0
2 5 b K |EWNE, K, HlRRRk (PEH, SR OPEFRR—DOH0), 28D (5kg AD), e RS 148 2,155 2,155 0.0 1.2
B % v | 1kg 364 346] 52| 7.6
B o A |TMEXAT, Iy T AV (T7TgAD) 11 146 146 0.0 -14
AR B |Ek, BAD (kg AY) 148 208 211 -14] 2.3
i ]\/%ZJJI\XE}TE%;D fé@? TR T AP UNG=—F —F), MCEFREFTF—F[ 0 sasl 301l 28l 266
A b o g 100g 310 323 -4.0] 3.7
AN/ T HOUD 100g 74 711 42 6.3
EE EHEM, m—A 100g 647 647| 0.0 5.9
7S m—Z (BREFRS) 100g 278 283 -1.8 2.2
#HoOOMH TuA7—, bbH 100g 137 138] -0.7 3.0
SR A7, JEEATEYD, MAHRAYD (1, 000mLAY) 1A 181 181 0.0 2.8
g — 7 b |[Fr—r3—2 Nk, 400~450gAD 100g 36 36 0.0 2.7
&H 0 HEIE, LYAX, 7y 2755 (10f8AD) 13y 203 203 0.0 ~-1.5
Eo2N A ES 1kg 1,059 741| 42.9] 206
¥ Hhg 1kg 613 617 -0.6] 9.1
[URE S/ A 1kg 298 298] 0.0 8.8
7= ¥ h & |[FERETEHR 1kg 221 205 7.8] -23.5
o~ R 1kg 571 461 239 247
2 AL, A 100g 22 23 -4.3[  -4.3
mooB | 100g 189 187 1.1 11.2
v AT &L, 1f8200~400¢ 1kg 528 508] 3.9 -23.3
NF 1kg 248 2471 04| 2.0
® A [Frs—7 Fefoh) i, RVEZRAY (1, 000gAY) 1A 291 301 -3.3] -19.8
R OBk CRE |BE Oz, iES (400g AD) 1A 315 315 0.0 0.0
roo— % |[wbIva—hr—%, 1#(70~120g) 100g 374 - - -
TAATY = KWN=TTAAZ)—24, S 7 AD (120mLAD) 11 277 262 5.7 5.3
Eis B FHIR0IRY, HoWNRY, I 148 494 494 0.0 0.0
FTL (R Y) |[FBIRVTL, IZXVTL, 8~10@AD, i 1%y 498 498] 0.0 0.0
oY [e—x, 3 100g 188 188 0.0 0.5
» b b T |BA, Bl 100g 160 160 0.0 2.6
XKoOKORE |[RZEECEE, Y RRRLVAD (B00mLAD) 14 90 92| -2.2| -2.2
v — b [E, I15AD(350mLAY), 61EAY 1%y 1,184 1,160 2.1 0.0
B — T AR 10 743 743 0.0 0.0
BB e, 1AHT 561 5241 7.1 7.1
v =L (4 R) |IREBIEICEITAE — AR, A, FIE(500mLAY) 1R 500 500 0.0 0.0

*AERERP S, AEREROT . ERERMIT. BRL PR TRIOEFEETToTRY ., ZRLSMNIFRADOHMEL TOET,
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Y A H | Al 4
RS IINGE

& E! & 1 B A | @A K

A 6H % %
%% (R E) [REgs 137”3)%; 3610 3,604 02| 02

.om

;T i HAT M, FEOE 252, JEHTED 18L 1,800 1,800 0.0 11.1

_ BB e MR BERMZAT, 'S — N, BERRL CERSRERE )] B2, 8kW, IBFES. 6 - _ _
VTR TET I\ GRS E— BN 6. T~T. 2, T4V A — BV X, mERE R X L | 172,5000 179,233 i
BB 2 v 7T, B, SIER, 30WE 1R 980 980 0.0 18.1
Ve R U A |ARRBER, ek A EHER, R, AL (1. Okg AD) 156 318 318 0.0 1.6

= = . TN— =R, (BT =4, T#100% | ULHFRI5% UL E-RUD L2 AR |, (A XTW64
W ANAT Y7 A ~T0cm, i 174 2,980 3,313 -10.1 -18.3
AN T ¥ % > [Hqh, #5100%, ZVk, (FARXIM, & 14 980 980 0.0 0.0
WON TR, (R, UR) AT A, UROBYEIEDVAHS, (A4 X])23~24cm, Fi#kdh 1¢ 10,290 10,290 0.0 0.0
KU v 7 Al [FREEFELSNG, FAY(100mL X 104 AD) 148 980 980 0.0 0.0
(Lo RITTAF LR, JEERmL A, A, 1. 60, UVAYh, EE(71L—24)5 " B
5 | sisrs s, S MRS LU | 2267) 2.267) 00

BE)#E DY) (LXag—TV), B 79— AREERL 1L 158 153 3.3 10.5
#OE fF OB (A AEEEENA, BRZRUEEEYS, T AT 7 UM, VA S 1A 9,167 9,167 0.0 0.0

WRes7 LY, 32VEL #l L7 XNV F a—F — 23N, BV ar kfis /L, LED/ Sy 7 Ak - _ _
F L E e enit o 14 50,867| 50,900 0.1 8.8
ho—=v 7oy a7y, (FMIRVZAT1100%, (PAX)IS~L, F#kdh 14 6,731 6,731 0.0 25.7
/T T = =l B 3 1[m] 1,700 1,700 0.0 0.0
2 B [RAEFEZ b, Y=, Tx T —, Bub), Bk ERAL T EER) 1[m] 3,873 3,873 0.0 -
7 U — A kU kR, 40g A0 & 5,250 5,250 0.0 0.0

FEDVAZ:8A~10A X235 ) TNLISORIEI ST,
(7£2) BREZEL : FRi254E 1 A 88 IE

(VE3) IREE : JERk254E3 A R IE

(JE4) &r—2  FAR254ET A 8RR
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